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Caution: This is not
on X and Y !!

Example:

¥ = (o,1) (non-compact)

Show that the map

£ : [0,0) » [O,w)
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is continuous.

Prove the following relations:
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Show that the triangle A
is homeomorphic to the disk E. 4

Let a,b €ER, 0 < a<b

Show that the torus / / \
)]
i

/'“""'"'"“ 1 - A -
T = {(X,y,Z) GIRBl (+/X2+y2—-b)2 + 22 = a2} \ / =‘r\{¥\\—x.(

is homeomorphic to S1 X 81

Show that T2 can also be obtained as a quotient space by
identifying opposite points on the

parallel sides of a square.




